# Election of Proctors in Convocation Stage 1

Quota = 29.50

#### FIRTH, The Revd Canon Rachel ELECTED

With 46.00 over quota 29.50

#### JONES, The Revd Canon Joyce ELECTED

With 34.00 over quota 29.50

# **BAVINGTON, The Revd Canon John ELECTED**

With 32.00 over quota 29.50

#### Stage 2

No candidates can be excluded, so we transfer the largest surplus Surplus of FIRTH, The Revd Canon Rachel

1 papers non transferable.

45.00 transferred

This is more than the surplus of 16.50

So ballot papers given a new value of 0.36

Transfer from FIRTH, The Revd Canon Rachel: 45 at 0.36 = 16.20

Transfer to AYERS, The Ven Paul: 1 at 0.36 = 0.36

Transfer to BISH, Fr Jonathan James Peter: 1 at 0.36 = 0.36

Transfer to BUCKLEY, The Revd Chris: 1 at 0.36 = 0.36

Transfer to CARTWRIGHT, The Revd Canon Paul: 2 at 0.36 = 0.72

Transfer to GREENWOOD, The Revd Caroline: 6 at 0.36 = 2.16

Transfer to HANNAFIN, The Revd Angela: 5 at 0.36 = 1.80

Transfer to HARRIS, The Revd Phil: 1 at 0.36 = 0.36

Transfer to JAMES, The Revd Brunel: 6 at 0.36 = 2.16

Transfer to LAWTON, The Revd Chris: 2 at 0.36 = 0.72

Transfer to MATTHEWS, The Revd Dr Hayley: 8 at 0.36 = 2.88

Transfer to MILES, The Revd Daniel: 1 at 0.36 = 0.36

Transfer to NEWTON, The Revd Ruth: 5 at 0.36 = 1.80

Transfer to NORMAN, The Revd Canon Andrew: 3 at 0.36 = 1.08

Transfer to SEABOURNE, The Revd Che: 1 at 0.36 = 0.36

Transfer to WADDINGTON, The Revd Gary: 2 at 0.36 = 0.72

# Stage 3

No candidates can be excluded, so we transfer the largest surplus Surplus of JONES, The Revd Canon Joyce

2 papers non transferable.

32.00 transferred

This is more than the surplus of 4.50

So ballot papers given a new value of 0.14

Transfer from JONES, The Revd Canon Joyce: 32 at 0.14 = 4.48

Transfer to AYERS, The Ven Paul: 2 at 0.14 = 0.28

Transfer to BISH, Fr Jonathan James Peter: 1 at 0.14 = 0.14

Transfer to CARTWRIGHT, The Revd Canon Paul: 1 at 0.14 = 0.14

Transfer to GREENWOOD, The Revd Caroline: 3 at 0.14 = 0.42

Transfer to HANNAFIN, The Revd Angela: 2 at 0.14 = 0.28

Transfer to HARRIS, The Revd Phil: 1 at 0.14 = 0.14

Transfer to JAMES, The Revd Brunel: 2 at 0.14 = 0.28

Transfer to MATTHEWS, The Revd Dr Hayley: 3 at 0.14 = 0.42

Transfer to MILES, The Revd Daniel: 1 at 0.14 = 0.14

Transfer to NEWTON, The Revd Ruth: 7 at 0.14 = 0.98

Transfer to NORMAN, The Revd Canon Andrew: 2 at 0.14 = 0.28

Transfer to RACE, The Revd Canon Stephen: 6 at 0.14 = 0.84

Transfer to WADDINGTON, The Revd Gary: 1 at 0.14 = 0.14

#### Stage 4

No candidates can be excluded, so we transfer the largest surplus

Surplus of BAVINGTON, The Revd Canon John

32.00 transferred

This is more than the surplus of 2.50

So ballot papers given a new value of 0.07

Transfer from BAVINGTON, The Revd Canon John: 32 at 0.07 = 2.24

Transfer to AYERS, The Ven Paul: 14 at 0.07 = 0.98

Transfer to HANNAFIN, The Revd Angela: 1 at 0.07 = 0.07 Transfer to HARRIS, The Revd Phil: 6 at 0.07 = 0.42 Transfer to JAMES, The Revd Brunel: 2 at 0.07 = 0.14 Transfer to LAWTON, The Revd Chris: 1 at 0.07 = 0.07 Transfer to MATTHEWS, The Revd Dr Hayley: 1 at 0.07 = 0.07 Transfer to MILES, The Revd Daniel: 2 at 0.07 = 0.14 Transfer to NORMAN, The Revd Canon Andrew: 1 at 0.07 = 0.07 Transfer to RACE, The Revd Canon Stephen: 1 at 0.07 = 0.07 Transfer to SEABOURNE, The Revd Che: 2 at 0.07 = 0.14 Transfer to WADDINGTON, The Revd Gary: 1 at 0.07 = 0.07

#### Stage 5

# **Excluding BUCKLEY, The Revd Chris**

Transferring papers worth 1.00
Transfer from BUCKLEY, The Revd Chris: 3 at 1.00 = 3.00
Transfer to BISH, Fr Jonathan James Peter: 1 at 1.00 = 1.00
Transfer to HARRIS, The Revd Phil: 1 at 1.00 = 1.00
Transfer to PERCIVAL, The Revd Darren: 1 at 1.00 = 1.00
Transferring papers worth 0.36
Transfer from BUCKLEY, The Revd Chris: 1 at 0.36 = 0.36
Transfer to GREENWOOD, The Revd Caroline: 1 at 0.36 = 0.36

### Stage 6

#### **Excluding MILES, The Revd Daniel**

Transferring papers worth 1.00 Transfer from MILES, The Revd Daniel: 5 at 1.00 = 5.00 Transfer to JAMES, The Revd Brunel: 1 at 1.00 = 1.00 Transfer to NEWTON, The Revd Ruth: 1 at 1.00 = 1.00 Transfer to SEABOURNE, The Revd Che: 2 at 1.00 = 2.00 Transfer to WADDINGTON, The Revd Gary: 1 at 1.00 = 1.00 Transferring papers worth 0.36 Transfer from MILES, The Revd Daniel: 1 at 0.36 = 0.36 Transfer to NORMAN, The Revd Canon Andrew: 1 at 0.36 = 0.36 Transferring papers worth 0.14 Transfer from MILES, The Revd Daniel: 1 at 0.14 = 0.14 Transfer to MATTHEWS, The Revd Dr Hayley: 1 at 0.14 = 0.14 Transferring papers worth 0.07 Transfer from MILES, The Revd Daniel: 2 at 0.07 = 0.14 Transfer to LAWTON. The Revd Chris: 1 at 0.07 = 0.07 Transfer to SEABOURNE, The Revd Che: 1 at 0.07 = 0.07

# Stage 7

# **Excluding NORMAN, The Revd Canon Andrew**

Transferring papers worth 1.00
Transfer from NORMAN, The Revd Canon Andrew: 5 at 1.00 = 5.00
Transfer to AYERS, The Ven Paul: 1 at 1.00 = 1.00
Transfer to JAMES, The Revd Brunel: 1 at 1.00 = 1.00
Transfer to LAWTON, The Revd Chris: 1 at 1.00 = 1.00
Transfer to RACE, The Revd Canon Stephen: 1 at 1.00 = 1.00
Transfer to SEABOURNE, The Revd Che: 1 at 1.00 = 1.00

# **AYERS, The Ven Paul ELECTED**

With 29.62 over quota 29.50

Transferring papers worth 0.36
Transfer from NORMAN, The Revd Canon Andrew: 4 at 0.36 = 1.44
Transfer to NEWTON, The Revd Ruth: 1 at 0.36 = 0.36
Transfer to RACE, The Revd Canon Stephen: 1 at 0.36 = 0.36
Transfer to SEABOURNE, The Revd Che: 1 at 0.36 = 0.36
Transfer to Non-transferable: 1 at 0.36 = 0.36
Transferring papers worth 0.14
Transfer from NORMAN, The Revd Canon Andrew: 2 at 0.14 = 0.28
Transfer to GREENWOOD, The Revd Caroline: 1 at 0.14 = 0.14
Transfer to NEWTON, The Revd Ruth: 1 at 0.14 = 0.14
Transferring papers worth 0.07
Transfer from NORMAN, The Revd Canon Andrew: 1 at 0.07 = 0.07
Transfer to MATTHEWS, The Revd Dr Hayley: 1 at 0.07 = 0.07

#### Stage 8

# **Excluding GREENWOOD, The Revd Caroline**

Transferring papers worth 1.00

Transfer from GREENWOOD, The Revd Caroline: 5 at 1.00 = 5.00

Transfer to HANNAFIN, The Revd Angela: 2 at 1.00 = 2.00

Transfer to JAMES, The Revd Brunel: 1 at 1.00 = 1.00

Transfer to LAWTON, The Revd Chris: 1 at 1.00 = 1.00

Transfer to MATTHEWS, The Revd Dr Hayley: 1 at 1.00 = 1.00

Transferring papers worth 0.36

Transfer from GREENWOOD, The Revd Caroline: 7 at 0.36 = 2.52

Transfer to HANNAFIN, The Revd Angela: 3 at 0.36 = 1.08

Transfer to LAWTON, The Revd Chris: 1 at 0.36 = 0.36

Transfer to MATTHEWS, The Revd Dr Hayley: 2 at 0.36 = 0.72

Transfer to Non-transferable: 1 at 0.36 = 0.36

Transferring papers worth 0.14

Transfer from GREENWOOD, The Revd Caroline: 4 at 0.14 = 0.56

Transfer to CARTWRIGHT, The Revd Canon Paul: 1 at 0.14 = 0.14

Transfer to HANNAFIN, The Revd Angela: 1 at 0.14 = 0.14

Transfer to JAMES, The Revd Brunel: 1 at 0.14 = 0.14

Transfer to MATTHEWS, The Revd Dr Hayley: 1 at 0.14 = 0.14

#### Stage 9

### **Excluding PERCIVAL, The Revd Darren**

Transferring papers worth 1.00

Transfer from PERCIVAL, The Revd Darren: 9 at 1.00 = 9.00

Transfer to CARTWRIGHT, The Revd Canon Paul: 3 at 1.00 = 3.00

Transfer to HANNAFIN, The Revd Angela: 1 at 1.00 = 1.00

Transfer to RACE, The Revd Canon Stephen: 2 at 1.00 = 2.00

Transfer to WADDINGTON, The Revd Gary: 2 at 1.00 = 2.00

Transfer to Non-transferable: 1 at 1.00 = 1.00

#### Stage 10

# **Excluding LAWTON, The Revd Chris**

Transferring papers worth 1.00

Transfer from LAWTON, The Revd Chris: 9 at 1.00 = 9.00

Transfer to HARRIS, The Revd Phil: 1 at 1.00 = 1.00

Transfer to JAMES, The Revd Brunel: 3 at 1.00 = 3.00

Transfer to NEWTON, The Revd Ruth: 2 at 1.00 = 2.00

Transfer to SEABOURNE, The Revd Che: 1 at 1.00 = 1.00

Transfer to WADDINGTON, The Revd Gary: 1 at 1.00 = 1.00

Transfer to Non-transferable: 1 at 1.00 = 1.00

Transferring papers worth 0.36

Transfer from LAWTON, The Revd Chris: 3 at 0.36 = 1.08

Transfer to MATTHEWS, The Revd Dr Hayley: 1 at 0.36 = 0.36

Transfer to NEWTON, The Revd Ruth: 1 at 0.36 = 0.36

Transfer to RACE, The Revd Canon Stephen: 1 at 0.36 = 0.36

Transferring papers worth 0.07

Transfer from LAWTON, The Revd Chris: 2 at 0.07 = 0.14

Transfer to JAMES, The Revd Brunel: 1 at 0.07 = 0.07

Transfer to NEWTON, The Revd Ruth: 1 at 0.07 = 0.07

#### Stage 11

#### Excluding BISH. Fr Jonathan James Peter

Transferring papers worth 1.00

Transfer from BISH, Fr Jonathan James Peter: 11 at 1.00 = 11.00

Transfer to CARTWRIGHT, The Revd Canon Paul: 2 at 1.00 = 2.00

Transfer to HARRIS, The Revd Phil: 1 at 1.00 = 1.00

Transfer to JAMES, The Revd Brunel: 2 at 1.00 = 2.00

Transfer to MATTHEWS, The Revd Dr Hayley: 1 at 1.00 = 1.00

Transfer to NEWTON, The Revd Ruth: 1 at 1.00 = 1.00

Transfer to RACE, The Revd Canon Stephen: 1 at 1.00 = 1.00

Transfer to WADDINGTON, The Revd Gary: 3 at 1.00 = 3.00

Transferring papers worth 0.36

Transfer from BISH, Fr Jonathan James Peter: 1 at 0.36 = 0.36

Transfer to MATTHEWS, The Revd Dr Hayley: 1 at 0.36 = 0.36

Transferring papers worth 0.14

Transfer from BISH, Fr Jonathan James Peter: 1 at 0.14 = 0.14

Transfer to NEWTON, The Revd Ruth: 1 at 0.14 = 0.14

# Stage 12

# **Excluding RACE, The Revd Canon Stephen**

Transferring papers worth 1.00

Transfer from RACE, The Revd Canon Stephen: 13 at 1.00 = 13.00

Transfer to CARTWRIGHT, The Revd Canon Paul: 9 at 1.00 = 9.00

Transfer to HARRIS, The Revd Phil: 1 at 1.00 = 1.00 Transfer to NEWTON, The Revd Ruth: 1 at 1.00 = 1.00

Transfer to Non-transferable: 2 at 1.00 = 2.00

# **CARTWRIGHT, The Revd Canon Paul ELECTED**

With 32.00 over quota 29.50

Transferring papers worth 0.36

Transfer from RACE, The Revd Canon Stephen: 2 at 0.36 = 0.72

Transfer to Non-transferable: 2 at 0.36 = 0.72

Transferring papers worth 0.14

Transfer from RACE, The Revd Canon Stephen: 6 at 0.14 = 0.84

Transfer to HANNAFIN, The Revd Angela: 1 at 0.14 = 0.14

Transfer to MATTHEWS, The Revd Dr Hayley: 1 at 0.14 = 0.14

Transfer to Non-transferable: 4 at 0.14 = 0.56

Transferring papers worth 0.07

Transfer from RACE, The Revd Canon Stephen: 1 at 0.07 = 0.07

Transfer to SEABOURNE. The Revd Che: 1 at 0.07 = 0.07

No candidates can be excluded, so we transfer the largest surplus

Surplus of CARTWRIGHT. The Revd Canon Paul

2 papers non transferable.

1 papers non transferable.

6.00 transferred

This is more than the surplus of 2.50

So ballot papers given a new value of 0.41

Transfer from CARTWRIGHT, The Revd Canon Paul: 6 at 0.41 = 2.46

Transfer to HANNAFIN, The Revd Angela: 1 at 0.41 = 0.41

Transfer to JAMES, The Revd Brunel: 1 at 0.41 = 0.41

Transfer to WADDINGTON, The Revd Gary: 4 at 0.41 = 1.64

# WADDINGTON, The Revd Gary ELECTED

With 29.57 over quota 29.50

# Stage 14

# **Excluding MATTHEWS, The Revd Dr Hayley**

Transferring papers worth 1.00

Transfer from MATTHEWS, The Revd Dr Hayley: 10 at 1.00 = 10.00

Transfer to HANNAFIN, The Revd Angela: 3 at 1.00 = 3.00

Transfer to NEWTON, The Revd Ruth: 3 at 1.00 = 3.00

Transfer to SEABOURNE, The Revd Che: 1 at 1.00 = 1.00

Transfer to Non-transferable: 3 at 1.00 = 3.00

Transferring papers worth 0.36

Transfer from MATTHEWS, The Revd Dr Hayley: 12 at 0.36 = 4.32

Transfer to HANNAFIN, The Revd Angela: 2 at 0.36 = 0.72

Transfer to HARRIS, The Revd Phil: 1 at 0.36 = 0.36

Transfer to JAMES, The Revd Brunel: 1 at 0.36 = 0.36 Transfer to NEWTON, The Revd Ruth: 5 at 0.36 = 1.80

Transfer to SEABOURNE, The Revd Che: 1 at 0.36 = 0.36 Transfer to Non-transferable: 2 at 0.36 = 0.72

Transferring papers worth 0.14

Transfer from MATTHEWS, The Revd Dr Hayley: 6 at 0.14 = 0.84

Transfer to HANNAFIN. The Revd Angela: 1 at 0.14 = 0.14

Transfer to HARRIS, The Revd Phil: 1 at 0.14 = 0.14

Transfer to SEABOURNE, The Revd Che: 1 at 0.14 = 0.14

Transfer to Non-transferable: 3 at 0.14 = 0.42

Transferring papers worth 0.07

Transfer from MATTHEWS, The Revd Dr Hayley: 2 at 0.07 = 0.14

Transfer to HANNAFIN, The Revd Angela: 1 at 0.07 = 0.07

Transfer to HARRIS, The Revd Phil: 1 at 0.07 = 0.07

### Stage 15

## **Excluding JAMES, The Revd Brunel**

Transferring papers worth 1.00

Transfer from JAMES, The Revd Brunel: 14 at 1.00 = 14.00

Transfer to HANNAFIN, The Revd Angela: 1 at 1.00 = 1.00

Transfer to NEWTON, The Revd Ruth: 5 at 1.00 = 5.00 Transfer to SEABOURNE, The Revd Che: 4 at 1.00 = 4.00 Transfer to Non-transferable: 4 at 1.00 = 4.00

### **NEWTON, The Revd Ruth ELECTED**

With 29.65 over quota 29.50

Transferring papers worth 0.41
Transfer from JAMES, The Revd Brunel: 1 at 0.41 = 0.41
Transfer to Non-transferable: 1 at 0.41 = 0.41
Transferring papers worth 0.36
Transfer from JAMES, The Revd Brunel: 7 at 0.36 = 2.52
Transfer to HANNAFIN, The Revd Angela: 1 at 0.36 = 0.36
Transfer to HARRIS, The Revd Phil: 1 at 0.36 = 0.36
Transfer to SEABOURNE, The Revd Che: 2 at 0.36 = 0.72
Transfer to Non-transferable: 3 at 0.36 = 1.08
Transferring papers worth 0.14
Transfer from JAMES, The Revd Brunel: 3 at 0.14 = 0.42
Transfer to SEABOURNE, The Revd Che: 1 at 0.14 = 0.14
Transfer to Non-transferable: 2 at 0.14 = 0.28
Transferring papers worth 0.07
Transfer from JAMES, The Revd Brunel: 3 at 0.07 = 0.21
Transfer to HARRIS, The Revd Phil: 2 at 0.07 = 0.14

# Stage 16 Formally excluding HARRIS, The Revd Phil

Transfer to Non-transferable: 1 at 0.07 = 0.07

**SEABOURNE, The Revd Che ELECTED** With 29.36

**HANNAFIN, The Revd Angela ELECTED** With 23.21

\*\*\*Finished\*\*\*